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Question 1
Question Type: MultipleChoice

A network engineer must deploy a configuration backup policy to the Cisco UCS Manager. The file generated from this backup must

have a snapshot of the entire system that should be used to restore the system during disaster recovery. The backup file must be

transferred insecurely by using the TCP protocol. Which configuration backup settings meet these requirements?

Options: 
A- Type: All Configuration

Protocol: SCP

B- Type: Logical Configuration

Protocol: SFTP

C- Type: Full State

Protocol: FTP

D- Type: System Configuration

Protocol: TFTP

Answer: 
C



Question 2
Question Type: MultipleChoice

An engineer is implementing traffic monitoring for a server vNIC that is configured with fabric failover enabled. The requirement is for the

traffic to be sent to an analyzer, even during a failure of one of the fabric interconnects. The analyzer is connected to unconfigured

Ethernet ports on both fabric interconnects. Which configuration accomplishes this task?

Options: 
A- Create two traffic monitoring sessions with different names, one per fabric

Connect the analyzer connected to FI-B as the destination for both monitoring sessions.

B- Create two traffic monitoring sessions with the same name, one per fabric.

Connect an analyzer on each Fl as the destination for the monitoring session local to that FI.

C- Create two traffic monitoring sessions with the same name, one per fabric.

Connect the analyzer connected to FI-A as the destination for both monitoring sessions.

D- Create two traffic monitoring sessions with different names, one per fabric.

Connect an analyzer on each FI as the destination for the monitoring session local to the FI

Answer: 
A



Question 3
Question Type: MultipleChoice

Refer to the exhibit.

Refer to the exhibit. A secure server that provides services to EPG-2 must be placed in EPG-1. The remaining EPGs---EPG-2, EPG-3.

and EPG-4---must communicate without any contracts. Which set of actions accomplishes this goal?



Options: 
A- Option A

B- Option B

C- Option C

D- Option D

Answer: 
B

Question 4
Question Type: MultipleChoice



An engineer must implement access control tor Cisco UCS Manager. The configuration must meet these requirements.

All users and user groups must be configured using Active Directory.

User1 must have full access to the Fabric Interconnect infrastructure and network security operations

User1 must have full access to the storage operations configuration.

Which action must be performed on Cisco UCS to meet the requirements?

Options: 
A- Create a custom rote tot the user and RADIUS for the role-mapping for Active Directory.

B- Execute a built-in role for the user and LDAP lor the role-mapping for Active Directory.

C- Create a custom role tor the user and LDAP for the rote-mappings for Active Directory.

D- Execute a built-in role for the user and RADIUS for the role-mapping for Active Directory.

Answer: 
B

Question 5



Question Type: MultipleChoice

An engineer must configure Cisco Nexus 9000 Series Switches for Cisco UCS Director integration The configuration must enable

automated onboarding of the switches as they come online. For security purposes, the switches must have the bare minimum of

connection methods enabled. The connection protocol must allow authentication through credentials. Which protocol must be configured

on the switches to allow automated onboarding?

Options: 
A- SNMP

B- Telnet

C- SSH

D- HTTPS

Answer: 
D

Question 6
Question Type: MultipleChoice



An engineer mus! send JSON encoded telemetry data to an external collector. The transport mechanism must prevent tampenng or

forgery of the dat

a. Which protocol accomplishes this goal?

Options: 
A- GPB

B- HTTP

C- gRPC

D- DTLS

Answer: 
B

Question 7
Question Type: MultipleChoice



An engineer must perform an initial configuration of VXLAN Tunnel End-Point functionality on the Cisco Nexus 9000 Series platform All

the necessary features are already enabled on the switch Which configuration set must be used to accomplish this goal?



Options: 
A- Option A

B- Option B

C- Option C

D- Option D

Answer: 
D

Question 8
Question Type: MultipleChoice

What is a benefit of independent resource scaling in Cisco HyperFlex hybrid architecture?

Options: 



A- flexible expansion of compute, caching, and capacity

B- remote booting of converged servers

C- multivendor converged node hardware support

D- support for compute nodes with third-party storage

Answer: 
D
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